
⑤ x2 − 12x12x12x + 3636 = 0

(x − 6)2 = 0

x = 6

④ x2 − 8x8x + 1515 = 0

(x − 3)(x − 5) = 0

x = 3, 5

③ x2 − 9 = 0

(x + 3)(x − 3) = 0

x = !3

② 2x2x + 6 = 7x7x + 2121

2x2x − 7x7x = 2121 − 6

−5x5x = 1515

x = −3

⑥ 





2x2x − y = 5

3x3x − 2y2y = 7

① % 2　　　　　　

4x4x − 2y2y = 1010･････････① ∏

① ∏－②　　　　　

x = 3

x = 3を①に代入

2 % 3 − y = 5

6 − y = 5

−y = 5 − 6

−y = −1

y = 1

(x , y) = ( 3 , 1 )

① 4x4x + 8 = x + 1414

4x4x − x = 1414 − 8

3x3x = 6

x = 2

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 21

⑤ x2 − 3x3x − 4040 = 0

(x + 5)(x − 8) = 0

x = −5, 8

④ x2 + 7x7x = 0

x(x + 7) = 0

x = 0,−7

③ x2 − 4x4x + 4 = 0

(x − 2)2 = 0

x = 2

② 5x5x + 9 = 7x7x + 1515

5x5x − 7x7x = 1515 − 9

−2x2x = 6

x = −3

⑥ 





5x5x − y = 3

7x7x − 2y2y = 3

① % 2　　　　　　

10x10x10x − 2y2y = 6･････････① ∏

① ∏－②　　　　　

3x3x = 3

x = 1

x = 1を①に代入

5 % 1 − y = 3

5 − y = 3

−y = 3 − 5

−y = −2

y = 2

(x , y) = ( 1 , 2 )

① 6x6x − 3 = 2x2x + 1313

6x6x − 2x2x = 1313 + 3

4x4x = 1616

x = 4

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 22



⑤ x2 + 18x18x18x + 8181 = 0

(x + 9)2 = 0

x = −9

④ x2 − 5x5x + 6 = 0

(x − 2)(x − 3) = 0

x = 2, 3

③ x2 − 8181 = 0

(x + 9)(x − 9) = 0

x = !9

② 2x2x − 7 = 5x5x + 1111

2x2x − 5x5x = 1111 + 7

−3x3x = 1818

x = −6

⑥ 





5x5x − 2y2y = 4

2x2x − y = 1

② % 2　　　　　　

4x4x − 2y2y = 2･････････② ∏

① −② ∏　　　　　

x = 2

x = 2を②に代入

2 % 2 − y = 1

4 − y = 1

−y = 1 − 4

−y = −3

y = 3

(x , y) = ( 2 , 3 )

① 8x8x + 6 = 3x3x + 3131

8x8x − 3x3x = 3131 − 6

5x5x = 2525

x = 5

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 23

⑤ x2 − x − 7272 = 0

(x + 8)(x − 9) = 0

x = −8, 9

④ x2 − 9x9x = 0

x(x − 9) = 0

x = 0, 9

③ x2 − 20x20x20x + 100100100 = 0

(x − 1010)2 = 0

x = 1010

② 2x2x + 4 = 5x5x − 1414

2x2x − 5x5x = −1414 − 4

−3x3x = −1818

x = 6

⑥ 





4x4x − 3y3y = 5

3x3x + 2y2y = 8

① % 2　　　　　　

8x8x − 6y6y = 1010･････････① ∏

② % 3　　　　　　

9x9x + 6y6y = 2424･････････② ∏

① ∏＋② ∏　　　　　

17x17x17x = 3434

x = 2

x = 2を②に代入

3 % 2 + 2y2y = 8

6 + 2y2y = 8

2y2y = 8 − 6

2y2y = 2

y = 1

(x , y) = ( 2 , 1 )

① 9x9x + 1 = 5x5x + 2121

9x9x − 5x5x = 2121 − 1

4x4x = 2020

x = 5

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 24



⑤ x2 − 6x6x + 9 = 0

(x − 3)2 = 0

x = 3

④ x2 + 11x11x11x + 2424 = 0

(x + 3)(x + 8) = 0

x = −3,−8

③ x2 − 1616 = 0

(x + 4)(x − 4) = 0

x = !4

② 3x3x + 1 = 9x9x + 1313

3x3x − 9x9x = 1313 − 1

−6x6x = 1212

x = −2

⑥ 





x + y = 1

2x2x − 3y3y = 1212

① % 3　　　　　　

3x3x + 3y3y = 3･････････① ∏

① ∏＋②　　　　　

5x5x = 1515

x = 3

x = 3を①に代入

3 + y = 1

y = 1 − 3

y = −2

(x , y) = ( 3 ,−2 )

① 7x7x − 5 = 3x3x − 1515

7x7x − 3x3x = 1515 + 5

4x4x = 2020

x = 5

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 25

⑤ x2 − 2x2x − 3535 = 0

(x + 5)(x − 7) = 0

x = −5, 7

④ x2 − 5x5x = 0

x(x − 5) = 0

x = 0, 5

③ x2 + 12x12x12x + 3636 = 0

(x + 6)2 = 0

x = −6

② 4x4x − 8 = 9x9x + 1212

4x4x − 9x9x = 1212 + 8

−5x5x = 2020

x = −4

⑥ 





3x3x + y = 1010

x − 2y2y = 1

① % 2　　　　　

6x6x + 2y2y = 2020･････････① ∏

① ∏＋②　　　　　

7x7x = 2121

x = 3

x = 3を①に代入

3 % 3 + y = 1010

9 + y = 1010

y = 1010 − 9

y = 1

(x , y) = ( 3 , 1 )

① 8x8x − 9 = x + 1212

8x8x − x = 1212 + 9

7x7x = 2121

x = 3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 26



⑤ x2 − 14x14x14x + 4949 = 0

(x − 7)2 = 0

x = 7

④ x2 − 6x6x + 5 = 0

(x − 5)(x − 1) = 0

x = 5, 1

③ x2 − 100100100 = 0

(x + 1010)(x − 1010) = 0

x = !1010

② 3x3x − 3 = 5x5x + 1515

3x3x − 5x5x = 1515 + 3

−2x2x = 1818

x = −9

⑥ 





2x2x + 3y3y = 4

3x3x + y = 1313

② % 3　　　　　　

9x9x + 3y3y = 3939･････････② ∏

① −② ∏　　　　　

−7x7x = −3535

x = 5

x = 5を②に代入

3 % 5 + y = 1313

1515 + y = 1313

y = 1313 − 1515

y = −2

(x , y) = ( 5 ,−2 )

① 11x11x11x + 1 = 2x2x + 2828

11x11x11x − 2x2x = 2828 − 1

9x9x = 2727

x = 3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 27

⑤ x2 − x − 4242 = 0

(x + 6)(x − 7) = 0

x = −6, 7

④ x2 − 6x6x = 0

x(x − 6) = 0

x = 0, 6

③ x2 + 2x2x + 1 = 0

(x + 1)2 = 0

x = −1

② 3x3x + 7 = 7x7x − 1313

3x3x − 7x7x = −1313 − 7

−4x4x = −2020

x = 5

⑥ 





2x2x − 3y3y = 9

5x5x + 2y2y = 1313

① % 2　　　　　　

4x4x − 6y6y = 1818･････････① ∏

② % 3　　　　　　

15x15x15x + 6y6y = 3939･････････② ∏

① ∏＋② ∏　　　　　

19x19x19x = 5757

x = 3

x = 3を②に代入

5 % 3 + 2y2y = 1313

1515 + 2y2y = 1313

2y2y = 1313 − 1515

2y2y = −2

y = −1

(x , y) = ( 3 ,−1 )

① 9x9x + 5 = 7x7x − 7

9x9x − 7x7x = −7 − 5

2x2x = −1212

x = −6

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 28



⑤ x2 − 10x10x10x + 2525 = 0

(x − 5)2 = 0

x = 5

④ x2 + 12x12x12x + 2020 = 0

(x + 2)(x + 1010) = 0

x = −2,−1010

③ x2 − 1 = 0

(x + 1)(x − 1) = 0

x = !1

② 2x2x + 5 = 8x8x + 1717

2x2x − 8x8x = 1717 − 5

−6x6x = 1212

x = −2

⑥ 





x + 3y3y = 5

3x3x + y = 7

② % 3　　　　　　

9x9x + 3y3y = 2121･････････② ∏

① −② ∏　　　　　

−8x8x = −1616

x = 2

x = −2を②に代入

3 % 2 + y = 7

6 + y = 7

y = 7 − 6

y = 1

(x , y) = ( 2 , 1 )

① 13x13x13x − 5 = 6x6x + 1616

13x13x13x − 6x6x = 1616 + 5

7x7x = 2121

x = 3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 29

⑤ x2 − 5x5x − 3636 = 0

(x + 4)(x − 9) = 0

x = −4, 9

④ x2 + 8x8x = 0

x(x + 8) = 0

x = 0,−8

③ x2 − 14x14x14x + 4949 = 0

(x − 7)2 = 0

x = 7

② 2x2x + 7 = 8x8x − 2323

2x2x − 8x8x = −2323 − 7

−6x6x = −3030

x = 5

⑥ 





3x3x + y = 7

x − 2y2y = 7

① % 2　　　　　

6x6x + 2y2y = 1414･････････① ∏

① ∏＋②　　　　　

7x7x = 2121

x = 3

x = 3を①に代入

3 % 3 + y = 7

9 + y = 7

y = 7 − 9

y = −2

(x , y) = ( 3 ,−2 )

① 5x5x − 1414 = 2x2x + 7

5x5x − 2x2x = 7 + 1414

3x3x = 2121

x = 7

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 30



⑤ x2 − 9x9x + 2020 = 0

(x − 4)(x − 5) = 0

x = 4, 5

④ x2 + 8x8x + 1616 = 0

(x + 4)2 = 0

x = −4

③ x2 − 4 = 0

(x + 2)(x − 2) = 0

x = !2

② 8x8x + 1414 = 9x9x + 5

8x8x − 9x9x = 5 − 1414

−x = −9

x = 9

⑥ 





2x2x − y = 5

x + 2y2y = 1010

① % 2　　　　　　

4x4x − 2y2y = 1010･････････① ∏

① ∏＋②　　　　　

5x5x = 2020

x = 4

x = 4を①に代入

2 % 4 − y = 5

8 − y = 5

−y = 5 − 8

y = −3

y = 3

(x , y) = ( 4 , 3 )

① 7x7x − 8 = 2x2x + 2222

7x7x − 2x2x = 2222 + 8

5x5x = 3030

x = 6

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 31

⑤ x2 − x − 2 = 0

(x + 1)(x − 2) = 0

x = −1, 2

④ x2 − 5x5x = 0

x(x − 5) = 0

x = 0, 5

③ x2 − 16x16x16x + 6464 = 0

(x − 8)2 = 0

x = 8

② 3x3x − 5 = 7x7x + 1111

3x3x − 7x7x = 1111 + 5

−4x4x = 1616

x = −4

⑥ 





2x2x + y = 1

3x3x + 2y2y = 3

① % 2　　　　　　

4x4x + 2y2y = 2･････････① ∏

① ∏－②　　　　　

x = −1

x = −1を①に代入

2 % (−1) + y = 1

−2 + y = 1

y = 1 + 2

y = 3

(x , y) = ( − 1 , 3 )

① 8x8x + 4 = 5x5x + 2222

8x8x − 5x5x = 2222 − 4

3x3x = 1818

x = 6

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 32



⑤ x2 − 6x6x + 9 = 0

(x − 3)2 = 0

x = 3

④ x2 − 10x10x10x − 2424 = 0

(x + 2)(x − 1212) = 0

x = −2, 1212

③ x2 − 1616 = 0

(x + 4)(x − 4) = 0

x = !4

② 3x3x − 2 = 8x8x + 1313

3x3x − 8x8x = 1313 + 2

−5x5x = 1515

x = −3

⑥ 





5x5x − 3y3y = 1212

2x2x − y = 5

② % 3　　　　　　

6x6x − 3y3y = 1515･････････② ∏

① −② ∏　　　　　

−x = −3

x = 3

x = 3を②に代入

2 % 3 − y = 5

6 − y = 5

−y = 5 − 6

−y = −1

y = 1

(x , y) = ( 3 , 1 )

① 8x8x − 6 = x + 2222

8x8x − x = 2222 + 6

7x7x = 2828

x = 4

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 33

⑤ x2 − 2x2x − 6363 = 0

(x + 7)(x − 9) = 0

x = −7, 9

④ x2 + 7x7x = 0

x(x + 7) = 0

x = 0,−7

③ x2 + 4x4x + 4 = 0

(x + 2)2 = 0

x = −2

② 2x2x − 9 = 4x4x − 1313

2x2x − 4x4x = −1313 + 9

−2x2x = −4

x = 2

⑥ 





2x2x + y = 8

3x3x − 2y2y = 5

① % 2　　　　　　

4x4x + 2y2y = 1616･････････① ∏

① ∏＋②　　　　　

7x7x = 2121

x = 3

x = 3を①に代入

2 % 3 + y = 8

6 + y = 8

y = 8 − 6

y = 2

(x , y) = ( 3 , 2 )

① 7x7x − 6 = 2x2x + 9

7x7x − 2x2x = 9 + 6

5x5x = 1515

x = 3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 34



⑤ x2 − 14x14x14x + 4949 = 0

(x − 7)2 = 0

x = 7

④ x2 + 9x9x + 1818 = 0

(x + 3)(x + 6) = 0

x = −3,−6

③ x2 − 3636 = 0

(x + 6)(x − 6) = 0

x = !6

② 3x3x − 4 = 5x5x + 6

3x3x − 5x5x = 6 + 4

−2x2x = 1010

x = −5

⑥ 





3x3x + 2y2y = 7

7x7x − 3y3y = 1

① % 3　　　　　　

9x9x + 6y6y = 2121･････････① ∏

② % 2　　　　　　

14x14x14x − 6y6y = 2･････････② ∏

① ∏＋② ∏　　　　　

23x23x23x = 2323

x = 1

x = 1を①に代入

3 % 1 + 2y2y = 7

3 + 2y2y = 7

2y2y = 7 − 3

2y2y = 4

y = 2

(x , y) = ( 1 , 2 )

① 13x13x13x + 7 = 8x8x + 3737

13x13x13x − 8x8x = 3737 − 7

5x5x = 3030

x = 6

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 35

⑤ x2 + x − 5656 = 0

(x + 8)(x − 7) = 0

x = −8, 7

④ x2 − 3x3x = 0

x(x − 3) = 0

x = 0, 3

③ x2 − 6x6x + 9 = 0

(x − 3)2 = 0

x = 3

② 2x2x − 7 = 5x5x − 1616

2x2x − 5x5x = −1616 + 7

−3x3x = −9

x = 3

⑥ 





x − y = 7

2x2x + 3y3y = 4

① % 3　　　　　　

3x3x − 3y3y = 2121･････････① ∏

① ∏＋②　　　　　

5x5x = 2525

x = 5

x = 5を①に代入

5 − y = 7

−y = 7 − 5

−y = 2

y = −2

(x , y) = ( 5 ,−2 )

① 9x9x + 9 = 2x2x − 3333

9x9x − 2x2x = −3333 − 9

7x7x = −4242

x = −6

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 36



⑤ x2 − 10x10x10x + 2525 = 0

(x − 5)2 = 0

x = 5

④ x2 − 11x11x11x + 1818 = 0

(x − 2)(x − 9) = 0

x = 2, 9

③ x2 − 8181 = 0

(x + 9)(x − 9) = 0

x = !9

② 3x3x − 3 = 7x7x + 1313

3x3x − 7x7x = 1313 + 3

−4x4x = 1616

x = −4

⑥ 





2x2x + y = 5

3x3x − 2y2y = 4

① % 2　　　　　　

4x4x + 2y2y = 1010･････････① ∏

① ∏＋②　　　　　

7x7x = 1414

x = 2

x = 2を①に代入

2 % 2 + y = 5

4 + y = 5

y = 5 − 4

y = 1

(x , y) = ( 4 , 1 )

① 6x6x + 2323 = x + 8

6x6x − x = 8 − 2323

5x5x = −1515

x = −3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 37

⑤ x2 − 3x3x − 4040 = 0

(x + 5)(x − 8) = 0

x = −5, 8

④ x2 + 6x6x = 0

x(x + 6) = 0

x = 0,−6

③ x2 + 2x2x + 1 = 0

(x + 1)2 = 0

x = −1

② 2x2x + 1717 = 9x9x − 2525

2x2x − 9x9x = −2525 − 1717

−7x7x = −4242

x = 6

⑥ 





5x5x + 2y2y = 1111

x − 3y3y = 9

① % 3　　　　　　

15x15x15x + 6y6y = 3333･････････① ∏

② % 2　　　　　　

2x2x − 6y6y = 1818･････････② ∏

① ∏＋② ∏　　　　　

17x17x17x = 5151

x = 3

x = 3を①に代入

5 % 3 + 2y2y = 1111

1515 + 2y2y = 1111

2y2y = 1111 − 1515

2y2y = −4

y = −2

(x , y) = ( 3 ,−2 )

① 6x6x + 7 = 2x2x + 1919

6x6x − 2x2x = 1919 − 7

4x4x = 1212

x = 3

◆次の一次方程式、二次方程式、連立方程式を解け。

年  組  番・氏名     

方程式すべて 38



⑤ x2 + 12x12x12x + 3636 = 0

(x + 6)2 = 0

x = −6

④ x2 − 6x6x − 2727 = 0

(x + 3)(x − 9) = 0

x = −3, 9

③ x2 − 2525 = 0

(x + 5)(x − 5) = 0

x = !5

② 2x2x − 1111 = 7x7x + 2929

2x2x − 7x7x = 2929 + 1111

−5x5x = 4040

x = −8

⑥ 





5x5x + 2y2y = 1

2x2x + 3y3y = 7

① % 3　　　　　　

15x15x15x + 6y6y = 3･････････① ∏

② % 2　　　　　　

4x4x + 6y6y = 1414･････････② ∏

① ∏ −② ∏　　　　　

11x11x11x = −1111

x = −1

x =を①に代入

5 % (−1) + 2y2y = 1

−5 + 2y2y = 1

2y2y = 1 + 5

2y2y = 6

y = 3

(x , y) = ( − 1 , 3 )

① 7x7x + 9 = 3x3x + 1717

7x7x − 3x3x = 1717 − 9

4x4x = 8

x = 2

◆次の一次方程式、二次方程式、連立方程式を解け。
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⑤ x2 − 5x5x − 2424 = 0

(x + 3)(x − 8) = 0

x = −3, 8

④ x2 − x = 0

x(x − 1) = 0

x = 0, 1

③ x2 − 8x8x + 1616 = 0

(x − 4)2 = 0

x = 4

② 2x2x − 6 = 7x7x + 1919

2x2x − 7x7x = 1919 + 6

−5x5x = 2525

x = −5

⑥ 





x + y = 7

3x3x − 2y2y = 6

① % 2　　　　　　

2x2x + 2y2y = 1414･････････① ∏

① ∏＋②　　　　　

5x5x = 2020

x = 4

x = 4を①に代入

4 + y = 7

y = 7 − 4

y = 3

(x , y) = ( 4 , 3 )

① 14x14x14x − 2424 = 5x5x + 2121

14x14x14x − 5x5x = 2121 + 2424

9x9x = 4545

x = 5

◆次の一次方程式、二次方程式、連立方程式を解け。
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